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HOME SCIENCE
( General )

( Textile and Clothing )

Full Marks : 40

Time : 2 hours

The figures in the margin indicate full marks
for the questions

- Answer either in English or in Assamese
1. State whether the following statements are
True or False : . ‘ 1x5=5
s il IRTIR B (7 TG o4 -
(@) The length of filament fibre is about
200 meters to 1500 meters.
wg 31 Rt o O A’ oo RO A
s¢oo fER T |
(b) The strength of linen fibre increases up
to 40% when wet. ‘ '
o1, sEre foem oy *ifE »roFa 8o Wl
3= e ’
(c) Curtain materials are prepared by using
novelty yarn.
oA IARER T'csf6 @1 397y IR =S
FqMAI
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(2)

(d) Reference group is one of the factors
affecting consumer behaviour.

g A AP (b (STER WIS 2SR
COTATIRT PRI 01 F1R9 1

(e) Dry cleaning is also known as French
cleaning. 4
VY ARAT GFH (4 1S & I |

2. Answer briefly (any four) : 2x4=8

5y e forr (R ciean wifRDY) -

(a) Write two chemical properties of silk
fibre.
o s 61 aPTmie f forar 1

(b) What is textured yarn?
GRS ! 6 2

{c) Write any two properties of felt.
%51 ¥ 1 o1 4t forn o

(d) Mention two principles involved in
pattern making.

T [ WX (AT wEEE wol A ey
01

(e) Write any two rules of stitching
garments.

e focemare R e wor s fora o
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(3)

3. Write short notes on (any three) : 5x3=15
5 ot forat (R ceem fofb)

{a) Tatting
afie

(b) Merits of ready-made garments
IS LS CMTFI JRYEPTR

(c) Importance of paper pattern making
TH (STRIIR TSI

(d) Clothing needs of the family
RAETS AGCAHF LGS

(e) Importance of storage of clothes
YT TIHN Y/ Al

() Blended yarn
fiffrs =iz

4. What is textile fibre? What are the differences

between animal fibre and mineral fibre?
2+2+2=6
T SR B2 ofw Wz wWie R S® TR
PR ¥ 52 :
Or/asq -

Define yarn. What are the methods of making
yarn? Explain any one method of yamn
making. 1+1+4=6
oI S il | O AR gy B R
2SR R A GOt 17 3 41 1
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(4)

Or/ %1

Mention the different methods of fabric
construction. Write a brief note on weaving.
3+3=6

@ aEeIR RR¥w mfemg T =1 QR
@IS GBI 5 GBI R 1

S. Write short notes on-pattern alteration and
wardrobe planning. 3+3=6
T TR S CAIEE SR Sh SRS 5
ot form |

Or/ &1

What do you mean by clothing budget? Write
about the factors to be considered in
planning clothing budget. 1+5=6
HACATTT ACSH e R o7 A 0D
JRes IS e IR IR R
foran

Or/ 941

What is consumer behaviour? What are the
factors affecting consumer behaviour?  1+35=6
Sorera w3 2 Torerel WIsATS &SR TR

e & 2
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